Please show all your work clearly 
1. Perform the following computation.  Write the answer in scientific notation.
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2. Perform the indicated operation.  Solve for x.  Reduce your answer to lowest terms.


[image: image2.wmf]327

0

12

xxx

-+=

-+


3. Perform the indicated operation.
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4. Solve this equation.  Solve for x.
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5. Solve this equation.  Solve for x.  Watch for extraneous solutions.
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6. The ratio of cars to sport utility vehicles (SUV) sold by Ford Motor Company in one month is 45 to 55.  If 30,000 less cars were sold than SUV, then how many of each were sold that month?  Hint: Use C as a variable for car and SUV as a variable for SUV.

7. For the formula shown, if x = 5 and z = 6, find y.
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8. For the formula shown, if w = 600, x = 125, and y = 3, find z.


[image: image7.wmf]w

x

yz

=

+


9. Find all real or imaginary solutions to this equation.  Solve for x.
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10. Find the vertex and intercepts of this function.


[image: image9.wmf]2

251

yxx

=-+


_1117808119.unknown

_1117808784.unknown

_1117809182.unknown

_1139071359.unknown

_1117809070.unknown

_1117808527.unknown

_1117807719.unknown

_1117807835.unknown

_1117807226.unknown

